Vector Calculus MAT226 Spring 2025
Professor Sormani

Lesson 4 Lines and Planes

The deadline for this lesson is in one week,
and lesson 5 is an online only video lesson
which is due before our Lesson 6 meeting.

Carefully take notes while attending class or watching the lesson videos. You will cut
and paste the photos of your notes and completed classwork in a googledoc entitled:

MAT226S25-lesson4-lastname-firstname
Then share editing of that document with me sormanic@gmail.com. You will also put

photos of your homework in this googledoc. If you work with any classmates, be sure to
write their names on the problems you completed together.
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If you missed class, watch the Playlist 226F21-4-1to12 doing ten classwork problems.

Everyone should do the homework as discussed at the bottom of this page.


https://sites.google.com/site/professorsormani/home/teaching/vector-calc-f25
https://sites.google.com/site/professorsormani/home
https://docs.google.com/document/d/1MV7P9V4kx4G4DJHW-2We38t7iFW_eH3giZKakDiP_E4/edit?usp=sharing
mailto:sormanic@gmail.com
https://youtube.com/playlist?list=PLRHpZu30FKOULl7K83nVQxiCUoSFzjZ8t
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Classwork 1 is above, try classwork 2 before scrolling down to see the solution:
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Classwork 7 is the work below:
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Classwork 8:
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Some graph papers:




Homework: Lehman had all odd problems in 11.5 but must read the chapter to learn all
these problems.
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Feedback to students:



Vector Calculus MAT226 Spring 2025
Professor Sormani

Lesson 4 Lines and Planes

Score: +1 Aor+.75Bor+%2Cor+%2D or+0 F

The classwork and notes are completed +2
Only some classwork is done +;
No notes/classwork is done +0 (this is half the credit for each lesson)

The homework is tried +72
Only some homework is tried +7;
No homework is tried +0 (this is half the credit for each lesson)

The solutions to the homework are now at the end of Lesson 4: here. There are other
correct answers so feel free to ask if you want to know if your answer is also correct. |
can help with graphing at office hours.


https://sites.google.com/site/professorsormani/home/teaching/vector-calc-f25
https://sites.google.com/site/professorsormani/home
https://docs.google.com/document/d/1MV7P9V4kx4G4DJHW-2We38t7iFW_eH3giZKakDiP_E4/edit?usp=sharing
https://docs.google.com/document/d/1v0KRhk_SpHKXTaExbcHl5h-IX2LW6v4KJZtKumZZgNQ/edit

